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Model Test 1

Part ] Listening Comprehension

Section A Conversations

Directions: In this section , you will hear 10 short conversations between two speak-
ers. At the end of each conversation, a third voice will ask a question
about what was said. Both the conversation and the question will be
spoken only once . After each question there will be a pause . During the
pause , you must read the four choices marked A) ,B),C),and D) , and
decide which is the best answer . Then blacken the corresponding letter
on the Answer Sheet with a pencil .

Example: You will hear :

You will read : A) At the office.
B) In the waiting room.
C) At the airport .
D) In a restaurant .

From the conversation we know that the two were talking about some work they

have to finish in the evening. This is most likely to have taken place at the office.

Therefore A)“At the office” is the best answer . You should choose answer [A]on

the Answer Sheet and blacken it with a pencil .

Sample Answer [A] [B] [C] [D]

1. A. He found maths easy to leam.

B. He passed the maths test very easily.
C. He helped everyone with their maths.
D. He was more interested in football than in maths.
2. A. Because he met his father on the way.
F‘ B. Because he didn’t wake up on time to catch the bus.
C. Because he forgot to set the alamm.



D. Because he got off the bus at the wrong stop.
3. A. He agrees with the woman.
B. He doesn’t think Karen gave her any help.
C. He thinks the woman gave Karen more help.
D. He thinks everyone was more helpful than Karen was.
4. A. They would wait for him.
B. He should retum the books immediately.
C. It’s fine for him to retum the book one hour late.
D. They were already one hour late for the outing.
5.A. On the phone. B. At the office. C. In a hotel. D. At home.
6. A. Professor Jones is quite respected by the students.
B. Professor Jones is too busy to help her students.
C. Professor Jones asks her students to look some words up in the dictionary.
D. Professor Jones’ students look forward to doing some research after class.
7.A. At a hospital. B. At a museum. C. At a park. D. At home
8. A.He didn’t go to the review session either.
B. He thought the review session was not necessary.
C.He leamed a lot in the review session.
D. He didn’t review the lesson yet.
9. A.Henry’s success was out of her expectation.
B. It was quite natural for Henry to win the scholarship.
C. Henry is not as good a scholar as Joe is.
D. Henry should have worked harder to win the scholarship.
10. A. She is not interested in having a holiday.
B. She is tired of her routine life.
C. She prefers going to the beach.
D. She is quite sure about her best holiday choice.

Section B Passages

Directions: In this section , you will hear 3 short passages . At the end of each pas-
sage, you will hear some questions . Both the passage and the questions
i 9 s



will be spoken only once. After you hear a question , you must choose
the best answer from the four choices marked A) ,B),C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line
through the center.

Passage 1

Questions 11 to 13 are based on the passage you have just heard.
11.A. £1208. B. £1218. C. £1318. D. £1380.
12. A. The young man looked too young to buy cars.
B. The young man was not being serious.
C. The young man was not polite enough.
D. The young man didn’t look like being able to afford the cars.
13. A. He wanted to make some money from selling those cars secretly in Norway.
B. He wanted to reward his workers with the cars.
C. He hoped to open a car shop of his own in Norway.
D. He wanted to buy the cars for himself and his colleagues.

Passage 2

Questions 14 to 17 are based on the passage you have just heard.
14. A. Education in the U.S. .
B. Public schools in the U.S. .
C. Differences between a public school and a private school in the U. S. .
D. The advantages of studying in public schools in the U.S. .
15. A. About 12% . B. About 20% .
C. About 80% . D. About 88% .
16. A. They are very poorly-equipped.
B. They are very well-equipped.
C. They have good teachers.
D.Both B and C.
17. A. Public schools in the U. S. are funded by the Federal government.
B. Public schools are not as good as private schools.
C. Public schools still play a very important role in education in the U.S. .

+ 3 .



D. All suburban public schools are better than inner-city schools.
Passage 3

Questions 18 to 20 are based on the passage you have just heard.

18. A. Peterhouse College. B. Robinson College.
C.King’s College / D. (}ee'\’s Ool/lege‘ff
19.A.1n 1817. B.In 1871. < C.In 1873. D. In 1954.

20. A. Cambridge University has twenty colleges now.
B. Combridge University had three women colleges in the 1970s.
C. All the colleges in Cambridge are now mixed.
D. There are still more men students than women students in Cambridge Universi-
ty now.

Part  Reading Comprehension

Directions: There are four passages in this part . Each passage is followed by some
questions or unfinished statements . For each of them there are 4 choices
marked A),B),C) and D). You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a single line
through the center .

Questions 21 to 25 are based on the following passage:

Watch a baby between six and nine months old,and you will observe the basic
concepts of geometry being learned. Once the baby has mastered the idea that space
is three-dimensional , it reaches out and begins ggzgeln \}/;;?us kinds of objects. It is
then, from perhaps nine to fifteen months, that the concepts of sets and numbers are
formed. So_far, so good. But now an lominous, deyelopment takes place. The nerve
fibers in the brain insulate themselv& 1n such a way that the baby begirs to hear
sounds very grecn §oon it pldG tp Ianguage and it is then brought into direct
communication wnth adjlts From this point on, it is usually downhill all the way for
mathematics, because the child now becomes e to all the nonsense words and
beliefs of the community into which it has been SO mf%nuwte as to have been bom.
Nature,, having done very well by the child to this point, having permitted it the luxury
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of thinking for itself for eighteen months, now abandors it to the arbitrary conventions
and beliefs of society. But at least the child knows something of geometry and num-
bers,and it will always retain some memory of the early halcyon days( 4 £ # &, T
#¥ 48 65 94K ) , no matter what vicissitudes( £ % ; & i) it may suffer later on.
The main reservoir of mathematical talent in any society is thus possessed by children
who are about two years old, children who have just leamed to speak fluently.
21. What does the passage mainly discuss?
/:A, The impact of language on mathematics

B. Children’ s ability to leam languages

C. How basic concepts of physics are leamed 4 .64

D. Math-learning strategies for babies
22. According to the passage which of the following activities would teach a baby

about geometry?
'\/3; Picking up a wooden block B. Recognizing the number 2.
C. Uttering a nonsense word D. Looking at distant objects

23. According to the author it what age does a child probably begin to _leam about
sets and numbers?
4 Six months Bj Nine months
C. Fifteen months D. Eighteen months

24.The use of the word “ominous” shows that the author believes the child” s

A. linguistic future is thratened B. nerves will deteriorate

C. hearing will suffer (D, mathematical ability will decline

25. The passage supports which of the following conclusions?

'A. The language concepts wsed in early education interfere with mathematical

reasoning. Fal 7

B. It is hopeless to try tc teach children mathematics after the age of two.

C. Language teaching shild incorporate some mathematical formulas.

D. Preschool education sould stress society’s beliefs and conventions.
Quéstions 26 to 30 are bised on the following passage:

If you want to stay yong,sit down and have a good think. This is the research

finding of a team of Japanes: doctors, who say that most of our brains are not getting
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enough exercise—and as a result, we are aging unnecessarily soon.

Professor Taiju Matsuzawa wanted to find out why otherwise healthy farmers in
northem Japan appeared to be losing their ability to think and reason at a relatively
early age,and how the process of aging could be slowed down,

With a team of colleagues at Tokyo National University, he set about measurlng

brain volumes of a thousand people of different ages and varying occupations.
* Computer tedhology enabled the researchers to obtain precise measurements of
the volumes of the front and side sections of the brain, which relate to intellect and
emotion, and determine the human character. (The rear section of the brain, which
controls functions like eating and breathing,does not contract with age,and one can
continue living without intellectual on emotional faculties:

Contraction of front and side parts—as cells die off——was observed in
some stbjects in their thirties,but it was still not evident in some sixty-and seventy-
year-olds.

Matsuzawa concluded from his tests that there is a simple remedy to the con-
traction normally associated with age——sing the head.

The findings show in general terms that contraction of the brain begins sooner in
people in the country than in the towns. Those least at risk, says Matsuzawa, are
lawyers, followed by university professors and doctors. White collar workers doing
Joutine.work in government offices are, however, as likely to have shrinking brains as
the farm worker, bus driver and shop assistant.

Matsuzawa’s findings show that thinking can prevent the brain from shrinking.
Blood must circulate properly in the head to supply the fresh oxygen the brain cells
need. “The best way to mantain good blood circulation is through using the brain. ”he
says. “Think hard and engage in conversation. Don’t rely on pocket calaulators. ”
26. The team of doctors wanted to find out

A. why certain people are aging sooner than others
B.how to make people live longer
C. the size of certain people’s brains
D. which people are most intelligent
27.0n what are their research findings based?
A. A survey of farmers in northem Japan.
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B. Tests performed on a thousand old people.
C./The study of brain volumes of different people.
D. The latest development of computer technology.
28. The doctor’s tests show that
A. our brains shrink as we grow older
B. the front section of the brain does not shrink
EZ. sixty-year-olds have better brains than thirty-year-olds
'D. some people’s brains have contracted more than other people’s
29. The word “subjects” in paragraph 5 means
A. something to be considered
B. branches of knowledge studied
Crpersons chosen to be studied in an experiment
D. any member of a state except the supreme ruler
30. According to the passage, which peopie seem to age slower than the others?
:5. Lawyers. B. Farmers. C. Clerks. D. Shop assistants.
Questions 31 to 35 are based on the following passage:

Manned submersibles(# 7&K & ), like spaceships, must maintain living conditions
in an unnatural enviromment. But while a spaceship must simply be sealed against the
vacum( A %) of space,a submersible must be able to bear extreme pressure if it is
not to break up in deep water.

In exploring space, unmanned vehicles were enployed before astronauts. In un-
dersea exploration, on the other hand, men paved the way, and only recently have un-
manned remote-operated vehicles(ROVs) been put to use.

Ore reason for this is that communicating with vehicles in orbit is much easier
than talking to those underwater. A vacuum is an ideal medium for radio communica-
tions ,but underwater communications are limited to much slower sound waves. Thus,
most undersea vehicles——particularly ROVs——operate at the end of long ropes.

For a similar reason, knowing where you are undersea is much more difficult
than in space. A spaceship’s position can be located by following its radio signal, or
by using telescopes and radar. For an undersea vehicle, however, a special network of
sonar( & #) devices must be laid out in advance on the ocean floor in the area of a
dive to locate the vehicle’s position.



Though undersea exploration is more challenging than outer space in a number
of respects, it has a distinct advantage : Going to the ocean depths doesn’t require the
power necessary to escape Earth’s gravity. Thus, it remains far less expensive.

31. People did not begin to use unmanned vehicles in undersea exploration until re-
cently because of .
A. the communication problem B. the ocean depths

C. the movement of waves D. the problem of vacuum
32. By “more challenging” (in Line 17) , the author means

A.more interesting B. more demanding

C. more attractive D. more dangerous

33. Ocean exploration is not so expensive as space travel mainly because
A. it is not affected by Earth’s gravity
B. most undersea vehicles operate at the end of long ropes
C.ROVs have been put to use
D. there is no need for submersibles to get away from Earth’s gravity
34. The sonar devices must be placed
A. from time to time
B. after the undersea vehicle dives
C. at the time when the undersea vehicle is diving
D. before the undersea vehicle dives
35. Which of the following is NOT MENTIONED in the passage?
A. New techniques are continually developed and new machines invented for un-
dersea exploration.
B. If not well built, a submersible is most likely to get crushed in deep water.
C. A submersible, when manned, looks very much like a spaceship.
D. In certain respects undersea exploration is often faced with the same problem
as space travel is.
Questions 36 to 40 are based on the following passage:

A breakthrough in the provision of energy from the sun for the Furopean Eco-
nomic Community (EEC) could be brought forward by up to two decades, if a modest
increase could be provided in the EEC’s research effort in this field, according to the
senior EEC scientists engaged in experiments in solar energy at EEC’ s scientific labo-
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ratories at Ispra, near Milan.

The senior West German scientist in charge of the Community’ s solar energy
programme, Mr. Joachim Cretz, told journalists that at present levels of research
pending it was most unlikely that solar energy would provide as much as three pér-
cent of the Community’ s energy requirements even after the year 2,000. But he said
that with a modest increase in the present sums, devoted by the EEC to this work it
was possible that the breakthrough could be achieved by the end of the next decade.

Mr. Cretz calculates that if solar energy only provided three percent of the
EEC’s needs, this could still produce a saving of about a billion pounds in the present
bill for imported energy each year. And he believes that with the possibility of utiliz-
ing more advanced technology in this field it might be possible to satisfy a much big-
ger share of the Community’s future energy needs.

At present the EEC spends about $ 2.6 millions a year on solar research at Is-
pra,one of the EEC’s official joint research centres,and another $ 3 millions a year
in indirect research with universities and other independent bodies.

36. The phrase “be brought forward” in Line 2 most probably means :
A. be expected B.be completed  C.be advanced  D. be introduced
37. Some scientists believe that a breakthrough in the use of solar energy depends on

A. sufficient funding B. further experiments
C. advanced technology D. well-equipped laboratories
38. According to Mr. Gretz, the present sum of money will enable the scientists to
provide .
A. a little more than 3% of the EEC’s needs after the year 2000
B.3% of the EEC’s needs before the year 2000
C. less than 3% of the EEC’ s needs before the year 2000
D.only 3% of the EEC’s needs even after the year 2000
39. Which of the following is NOT true according to the passage?
A. The EEC spends one billion pounds on imported energy each year.
B. At the present level of research spending, it is difficult to make any significant
progress in the provision of energy from the sun.
C. The desired breakthrough could be obtained by the end of the next decade if
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investmént were increased.

D. The total yearly spending of the EEC on solar energy research amounted to al-
most 6 million dollars.

40. The application of advanced technology to research in solar energy

A. would lead to a big increase in research funding

B. would make it unnecessary to import oil

C. would make it possible to meet the future energy needs of the EEC

D. would provide a much greater proportion of the Community’ s future energy
needs

Part [ Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part . For each sentence there
are four choices marked A),B),C)and D). Choose the ONE answer
that best completes the sentence . Then mark the corresponding letter on

the Answer Sheet .
41. “Was the housemaster strict?”
“Yes, he requested that we television on week nights. ”
A. not watch 5 Gnest B. must not to watch
C. not be watching /th ,uo (vl‘aD have not watched
42. Not only the children bﬁ;ka-tha mother __ when the bus drove across
the mountains. vk
A.is frightened B. are frightened
C. was frightened D. were frightened
43. Are the terms “pure” and “applied” science two totally different activities, hav-
ing little or no interconnection, as often implied?
A.is B.are C. that D. what
44. Surely he won’ t deny there on that occasion.
A.to be B. having been C.to have been  D.he be
45. Smith happened to be at home,and, was rarer, was busy at work.
- Awho B.it Tt~ D.what
A46. She is always others.
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